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(Please write your Exam Roll Na.) Exam Roll ZuAv ..... % - ﬂv : .
END TERM EXAMINATION k. 06 (a) Write the dual of the following: 9
SECOND SEMESTER [BBA] APRIL — MAY 2019 , Max Z =T7x, +14x, + 6%, +10x, —3x,
Paper Code: BBA-104 Subject: Quantitative Techniques ‘ subject to conditions:
(Batch 2017 Onwards) X, <= 4000
Time: 3 Hours - Maximum Marks: .M_ 3x, +2x, +X, <= 6000
H Note: Attempt any five questions. X, +X, -3%; >=4500
X;+X, -4%g >=3000
Q1 The following are the weekly wages in Rupee of 30 workers of a firm: %y, Xg0 X3s X s X <=0
140 139 126 114 100 88 62 77 99 103 108 129 144 Raksse) e 2
148 134 63 60 148 132 118 142 116 123 104 95 80 Mw What meﬁwmuwné%%ow%“ ﬂmﬁmwmno% nu“

85 106 123 133
The firm gave bonus of Rs. 10, 15, 20, 25, 30 and 35 for individuals in

,ﬁn mwwo Mwu nh%@&_mwwomxwwo% ﬁw m%:cmww% HmMMMMMﬁM .\wwmmuwnm am% Q7 Solve the following transportation problem using Vogels’ Approximation
exceeding 150. Method later check its optimality. (15)
MM“ Wﬁ.mnw”ﬂnmdnnnﬂwmﬂwﬂ:bﬂMMMEQMMWMWMQMM%%MMMMM wmwﬁmmo: of M_MW Wﬂ-ﬂ.ﬁ“ﬁo“%oﬂuw‘”o e
s 2 Piants |PL [19 |30 [50 [12 [7
Q2 (a) Find the missing values in the given table. (9) P2 |70 |30 (40 |60 |18
S 1S 5o Comblned N@ﬂ%ﬂ“ﬂh Mo Mo wo mm WM

Number 50 ? |90 200

Mean 113 |7 [115 |116 .
Standard |6 ? |7 7.746 Q8 A computer center has 4 programmers. The centre needs four application
(b) Explain the following:- (6) programmes to be developed. The estimated computer time (in minutes)
(i) Lorenz curve required by the different programmers to develop the application
(i) IQR programmes is given below. (15)
(iii)Ogive curves
Pro
Q3 (a) Find the Coefficient of Skewness (by Karl Pearson’s method) for the A B c D
following data: (10, 1 (120 |100 |80 90
[ Class 10-20 | 20-30 [30-40 | 40-50 50-60 |60-70 | 70-80 Programmers |2 80 90 110 {70
| Frequencies | 5 9 13 21 20 15 8 3 |110 | 140 [120 |100
(b) Distinguish between Spearman’s and Karl Pearson’s coefficient of 4 |90 90 80 90
correlation. (5) Assign the Programmers to the Programmes in such a way that the total

computer time is minimum.

Q4 The following data gives the Age(X) and Blood Pressure(Y) for the 8
persons. Calculate the two regression equations. Take Ax=60 and Ay=60.(15)

e(X): 52 |63 |45 |36 |72 |65 |47 |25 IRk ERER
‘ Blood Pressure (Y): |62 |53 |51 |25 [79 [43 |60 |33
Q5 Solve the following LPP: (15) fee.
Maximize Z =X, +2xX, +3X,
Subject to constraints:
2%, +X, +X; <=2, 3%, +4x, +2X;5=8 XX, X, >=0
P.T.O. R0 \SH
RBA-1o4 o
(=) 7 :
/ _\\v\ \J\\\

Illl|
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(Please write your Exam Roll No.) Exam Roll NO. ....ccoevvrvnssseenns

END TERM EXAMINATION

— SECOND SEMESTER [BBA] MAY- JUNE 2019
\Paper Code: BBA-106 Subject: E-commerce |
Time: 3 Hours 7 Maximum Marks: 75

Note: Attempt any five qué_s_tjons.

Q1 (a) The early years e-commerce can be considered both a success and a
failure. Justify the statement. (8)
(b) Discuss the factors that contribute to e-commerce success. (7)

Q2 (a) What is e-business model? Explain with suitable examples B2B, B2C,

B2G and C2C models. (8)
(b) Discuss the e-transition challenges for an life insurance company. (7)

Q3  (a) Describe how internet and web features and services support e-

commerce. (8)
(b) Explain the following tags of HTML: (7)
(i) <a>---</a> (ii) <h2>--</h2> (iii) <dl>--</dl>

Q4 (a) How can the table be created in HTML? Explain with suitable

example. (8)

(b) Create a form in HTML to take feedback of customer for the service of

a restaurant. (7)

Q5  Differentiate between:- (15)

(a) E-commerce and E-business
(b) Public key and Private key
(c) Static Website and Dynamic website -

Q6 (a) Compare and contrast online credit card payment and debit card

payments. (8)

(b) Identify the key security threats that arise during e-commerce
transaction. (7)

Q7 (a) How does spoofing threaten a Website’s operations? (8)
(b) How is e-banking related to e-commerce and m-commerce? (7)

Q8 (a) Identify the industries who have taken full benefit of e-commerce.

Justify your findings. (8)
(b) Discuss the ethical issues raised by e-commerce. (7)
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(Please write your Exam Roll No.) | Exam ROl NO. w.oevencsesssssansess

END TERM EXAMINATION

SECOND SEMESTER [BBA APRIL - MaY 2019
\Tper Code: BBA-110 Subject: Business Communication

BBA(B&I)}110 (Batch 2017 Onwards)
Time: 3 Hours Maximum Marks: 75

L Note: Attempt any five questions.

Q1 Explain how can you improve command over spoken and written

English? Will effective listening accentuate this learning? (15)

Q2 Explain various types of communication and its flow in the organization. (15)

Q3 Differentiate between Etic and Emic approaches to understand different

cultures? Which approach according to you is best to communicate

effectively? (15)

Q4 How can presentation be made effective? How a presenter can control

boredom during presentation? Should videos be used as part of

presentations? Justify. (15)

Q5 You are applying for the job of Manager Marketing in an organization.

Write your resume and application letter for the same. (15)

Q6 Explain the functions and layout of various types of letters. (15)

Q7 Differentiate between Circulars, Office Memorandums, and Office Orders

while explaining purpose, format, language and tenses used for each of

them. (15)

Q8 Explain the role of technology as a boon and bane for communication.{15)
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